Question 1

[image: image1.png]A company had 150,000 shares outstanding on January 1. On March 1, 75,000 additional shares were issued
through a stock dividend. Then on November 1, the company issued 60,000 shares for cash. The number of
shares to be used in the denominator of the EPS calculation for the year is

A 222500 shares

B. 225,000 shares

C. 235,000 shares

D. 285,000 shares

Answer (C} is correct. The weighted-average of shares outstanding during the year is used in the EPS
denominator. Shares issued in a stock dividend are assumed to have been outstanding as of the beginning of
the earliest accounting period presented. Thus, the 75,000 shares issued on March 1 are deemed to have been
outstanding on January 1. The EPS denorminator equals 235,000 shares {[150,000 x (12 months ~ 12 morths)]
+ [75,000 x (12 months = 12 months)] + (60,000 (2 months = 12 months)[-




Question 2

[image: image2.png]At the beginning of the year, Lewis Corporation had 100,000 shares of common stock
outstanding. During the year, the following transactions occurred.

Date Transaction
April 1 Issued 10,000 shares in exchange for land
July 1 Declared and distributed a 10% stock dividend
October 1 Purchased 5,000 shares of treasury stock

The number of shares that Lewis should use when computing earnings per share at the
end of the year is

a 117.000.
b. 116.000.
c 111.750.
d. 106.250.




The answer of question 2 is C.111,750

I think the correct answer is calculates the number of shares as follows:

The stock dividend=(100,000+10,000 of April 1)*10%=11,000

Weighted average shares

=100,000*(12/12)+10,000*(9/12)+11,000*(6/12)+(-5,000)*(3/12)=111,750

My Question is How should we deal with the stock dividend and stock repurchase in computing the number of shares for EPS?

As you can see ,in question 1, the stock dividend is assumed to be issued as of the beginning of the year, however, in question 2, the stock dividend is weighted by the period of time outstanding.

